
Carys is             years old and her 

brother is ________. They both have a 

_______ disorder called ____________. 

It means their arms and legs are 

_______ than other people’s. The _____ 

of their body is normal length.

When Carys and George’s mum was growing up, she could 

not see out of her bedroom ______, so all the windows in 

Carys and George’s house are _____ than in standard houses.

People _____ at Carys, George and their parents because 

they look _________. Being stared at ______ Carys and 

______ George. 

Even if someone offered George “a _______ bucks” he would 

not change who he is.

Fill in the gaps using the words below. The first one has 
been done for you.

shorter ten

thirteen trunk

lower

different

annoys

achondroplasiagenetic

stare

million 

upsets
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for more resources, go to www.jeansforgenes.org


